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A.
Two angles are complementary if they add up to 90° ( a right angle).

These two angles (40° and 50°) are 

complementary angles because 

they add up to 90°.

Notice that together they make a right angle.
But the angles don’t have to be together.
These two angles are complementary 
because 27° + 63° = 90°. 
If the two angles add to 90°, we say 
they "Complement" each other.
27° is the complement of 63°.

"C" of Complementary stands for "Corner"         (a Right Angle).


Complementary comes from Latin completum meaning "completed" ... 

because the right angle is thought of as being a complete (full) angle.
B.
Which of the following pairs of angles are complementary?
	1. 
	38° and 52°
	2. 
	47° and 53°

	3. 
	35° and 54°
	4. 
	71° and 19°


C.
What is the complement of the following angles?
	1. 
	27° 
	2. 
	51°
	3. 
	82°
	4. 
	7°
	5. 
	45°
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